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The abiotic component of an ecosystem is . - ¥4 IV 1 I}‘j{: 14_1-‘
Producer 41y (D) Herbivore mg_};; (C) Soil Lf (B) Decomposer u‘}{ 3 (A)
External fertilization occurs in -—-=- : - ?Sﬁuﬁf I ; JL,E" 1o
crow I¥ (D)  Fish J‘f (C) Hen & (B) Rabbit Uy 2
Which of the foliowing drug 18 obtained from plants : < E'agufg_)"’? b & 3] u"c):’;f.‘.'J” HORA K
Tincture f-.-r? (D) Aspirin f ¢~ (C) Insu!i.ng;ﬁﬂ‘l (B) hine wr.é,i, (A)
_-Jppp{uﬁ@:“..;_z’;;.:; 4
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seous exchange in a plant leaf occurs through-—-
Aoy
Lenticels A (° (C) Generals

Stomata Uz~ (D)

Yogurt is made from mitk fermentation by ----- :
o L
Lactic acid bacteria k = A (B) \9
Yeast <t (C)

Saccharomyces /‘{JLH-G (A)

Bacillus
D sl L .r;"’b:@? CP TL/QJ}','E-U}T 6

Kidney af (A)

Which orgarn of man is responsible for fil

Intestine =1 (B)
” .
'.‘.f,t'x--ﬂq..i:‘?:_k;:u 3T

Brain f,L; (D)
The base of food chain is alw fyf :
Prim & v A3y (B) Producer
[ Secondary consumer /;_’}”/-;5.:}:-? (C)

riiy (A)

Dec 233 (D)
Number of pairs erves arising along spinal TPl LJJJJ“L:_.d@JJE;KJ_LLuU! 8
cord cf hu - ' ’
33 (D) 31 (C) 29 (B) 27 (A) |
In nervous coordination of human nervous system : u_?i../rf == {L:Edr’r‘(kﬁu}-’.{“"’u’:jﬁuul 9
response is an action of ---- after receiving message .
Effectors s & (D)  Coordinalors J RS /(C)  Receptors 5 (B)  Stimul Suae (A)
Which genotype of human blood express co-dominance . & d):qu;ufkk_:if:ﬁtiffﬁwi&jﬁdul 10
1% o) i i@ 1Tie
Human babies are born with about --— soft bones . : ugdﬁug;}rj ——— i,;ﬁ-\,r:uih,_rr.?_m@,,aa}.du: 11
400 (D) 300 (C) 200 (B) 100 (A)
An organism has two different alleles fora Zuﬁi__ S Ry AN et LA L
= A % e-z'112
single trait. Its genotype is said to be - P
Heterozygous u’j"'U:}j (B) Hemizygous .-,)’“L'li-.jf {(A)
Homologous .-_,-”i‘:’:f (D) Homozygous s {C)
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( PART-1 J5 »)
10 2. Write short answers to any Five (5) questions : rel e ALy (5) 8y = & 2
() Define homeostasis and give one example. ’i: ﬁ'.ﬁz:ié_ﬂ;JJJr‘r (i)
(i} What is bronchitis? Write the name of its two types. -c‘_’.ﬁf’tf_r'l,-’intfu" *‘Lt'rt.fu‘bﬁ;/ (ii}
(ili) What is meant by stomata? Write their function. c{/frb/(u! "L:/Lf:;.[ﬂr‘ (iif)
(iv) What are succulent organs? Give example. e "'J.L..rl.fyﬁi L (iv)
(v) Define nephron and write name of its two main parts. w’d.grtﬁur"a.zuﬁm.ul ;f_w/"ju:j&- (v)
(vi) Differentiate between agueous humour and vitreous humour. -Fifﬁju'i' A /fu):fi {VI)

(vii) What is meant by tapetum? ¢

{viii) Define reflex arc. ﬂ.'é ._y/:; 7] 3, (viii)
10 3. Write short answers to any Five (5) questions : e = Uy (5) él; = Jf -3
(i) What are hinge joints? Give its one example. LT plnyf ;f".? 6 (i)
(i) Differentiate between tendons and ligaments. o L),-’ e u"" § st vix (i)
(iii} How does honey bee reproduce? ?::,;; ﬁ,} v J M' (iif}

(iv) What is meant by alternation of generations? fe slp L YV < / 27 T u’:/' (iv)
(v} Differentiate between genotype and phenotge 5 .,?,-’ e _fLr" sl A (V)

(vi) Whatis incomplete dominance? Give an eE -i) .JL'? _U e I.f J"-yn J&: (vi)

(vii) What are homologous chromosomes? T iw L— /r‘:'sf ﬂry (vii)
(viii) Define DNA replication. _f ...w'/' u .J.I_IS’_a_La.a (DNA) «le/1S3 (viii)

10 4. Write short answers to arQ questions : ) & .:,yz/ﬁ.f..:.fmr (5) ék & Ji/ -4
(i} What are decomp erso Ut L,f;,_;,{:,’j (1)
(i) Whatis denitrifica& e M AUy (i)

(ili) Define paras -4_{ ‘...51/‘ J ["f".f!,(;": (i)
(iv} Define eutt@phication. _"( & v/ g Sl S (i)
(v) 'te@ on of hormone thymosin. @ C8 § LAE (V)
(vi t isifle meaning of fermentation in biotechnology? . 1 u"‘jﬁ o L;JJL-QJ;L (i)
(wii) t are addictive drugs? U g = Lot #T ,..-—‘ (vit)
(viii) Define antigens and antibodies. &3P 3 e S (Vi
( PART-II ¢ 2 )
Note : Attempt any TWO questions. e Ly ne 30
4 5. (a) Explain two methods of dialysis in detail. -5 ol o & & URS » £ A (L) 5
5 (b) Write a note on pancreas. »&U -y £ ;_I:/% (..,.)
4 6. (a) Define cartilage and write its various types. -ﬁ.uy_r‘l,jhfu'h:i ﬁ—...yf(féif () -6
5 el § b e i £ u%%,;,aaf:;;,ﬁ ()
(b) Discuss any five methods of natural vegetative propagation.
4 7. (a) Explain basic steps in genetic engineering. _f: Wk J"f Jolk Z J:’/""'l () 7
5 (b) What is meant by antibiotic resistance? ‘e st/ Lf PRI ..J e L ;,Ff Ltf' (..)
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